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= Al 291,479,367 | 100.00 % 270,703,279 | 100.00 % 20,776,088 7.67 %
=23 277,178,805 95.09 % 258,685,433 95.56 % 18,493,372 7.15 %
I 2 AL 4,396,653 1.51 % 3,993,600 1.48 % 403,053 10.09 %
I 2 AL 4,396,653 1.51 % 3,993,600 1.48 % 403,053 10.09 %
AT =& 273,110 0.09 % 11,420 0.00 % 261,690 | 2291.51 %
CATHA =& 273,110 0.09 % 11,420 0.00 % 261,690 | 2291.51 %
S2= 69,814,509 23.95 % 66,109,943 24.42 % 3,704,566 5.60 %
E2 58,410,473 20.04 % 56,065,494 20.71 % 2,344,979 4.18 %
=20 6,057,603 2.08 % 5,156,323 1.90 % 901,280 17.48 %
B 2,206,051 0.76 % 1,861,287 0.69 % 344,764 18.52 %
2 Bt 1,739,430 0.60 % 1,611,574 0.60 % 127,856 7.93 %
NI 2t 789,046 0.27 % 785,922 0.29 % 3,124 0.40 %
2l S A 611,906 0.21 % 629,343 0.23 % AT 437 A2.77 %
FU == 173,638,294 59.57 % 162,751,920 60.12 % 10,886,374 6.69 %
Ab2l = X3 83,170,619 28.53 % 77,387,093 28.59 % 5,783,526 7.47 %
OEJI=n 44,666,561 156.32 % 41,235,223 156.23 % 3,431,338 8.32 %
MESZ N 29,020,467 9.96 % 26,939,282 9.95 % 2,081,185 7.73 %
& Xtel Z H 2,439,974 0.84 % 2,858,630 1.06 % AN418,656 | A14.65 %
R RS 13,823,886 4.74 % 13,810,610 5.10 % 13,276 0.10 %
SE UL 516,787 0.18 % 521,082 0.19 % N4,205 (1 A0.82 %
HE E A= 29,056,239 9.97 % 25,818,550 9.54 % 3,237,689 12.54 %
S AleHS 10,948,458 3.76 % 9,059,585 3.35 % 1,888,873 20.85 %
wnsHI 157,748 0.05 % 186,554 0.07 % N28,806 | A15.44 %
24 5,305,420 1.82 % 4,597,657 1.70 % 707,763 156.39 %
=0 7,066,994 2.42 % 8,144,998 3.01 % A 1,078,004 | A13.24 %
SE =X 3,522,901 1.21 % 3,558,794 1.31 % A35,893| A1.01 %
EX2c 1t 2,054,718 0.70 % 270,962 0.10 % 1,783,756 | 658.30 %
AE0| 2 10,886,416 3.73 % 8,621,591 3.18 % 2,264,825 26.27 %
2AL 7,294,752 2.50 % 6,582,617 2.43 % 712,135 10.82 %
2Add 0 7,294,752 2.50 % 6,582,617 2.43 % 712,135 10.82 %
SN2 2,162,920 0.74 % 859,781 0.32 % 1,303,139 | 151.57 %
C A2 2,162,920 0.74 % 859,781 0.32 % 1,303,139 | 151.57 %
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= 3t3l 2 1,428,744 0.49 % 1,179,193 0.44 % 249,551 21.16 %
=8 2stal& 1,428,744 0.49 % 1,179,193 0.44 % 249,551 21.16 %
2/ 965,504 0.33 % 930,011 0.34 % 35,493 3.82 %
SISIAR = 965,504 0.33 % 930,011 0.34 % 35,493 3.82 %
OIS AtR =2 965,504 0.33 % 930,011 0.34 % 35,493 3.82 %
sS8s 2,448,642 0.84 % 2,466,244 0.91 % A17,602 | A0.71 %
F=oldlg 2,448,642 0.84 % 2,466,244 0.91 % A17,602| A0.71 %
AN1S 140,258 0.05 % 148,338 0.05 % A8,080 | A5.45 %
N2sS 143,812 0.05 % 185,432 0.06 % A11,620 | AT7.48 %
N3S 170,060 0.06 % 167,725 0.06 % 12,335 7.82 %
SAS 128,833 0.04 % 140,343 0.05 % A11,510 A8.20 %
f=1s 134,540 0.05 % 152,100 0.06 % A17,560 | A11.55 %
f=25 149,009 0.05 % 150,889 0.06 % AN1,880 A1.25%
F£=3= 145,700 0.05 % 139,473 0.05 % 6,227 4.46 %
=4S 136,520 0.05 % 129,000 0.05 % 7,520 5.83 %
1S 151,595 0.05 % 164,953 0.06 % N~13,358 | A8.10 %
qd2s 117,060 0.04 % 132,700 0.05 % N15,640 | A11.79 %
FH3S 111,894 0.04 % 107,084 0.04 % 4,810 4.49 %
HERS 114,161 0.04 % 103,951 0.04 % 10,210 9.82 %
FELELS 139,918 0.05 % 116,798 0.04 % 23,120 19.79 %
gas 225,424 0.08 % 232,050 0.09 % NB,626 | ~2.86 %
TAN1S 148,820 0.05 % 148,780 0.05 % 40 0.03 %
T AN2S 219,148 0.08 % 209,128 0.08 % 10,020 4.79 %
=83 71,890 0.02 % 77,500 0.03 % A5,610( A7.24 %




